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Console.WriteLine("------ family size in IRAN ------ ");

Console. WriteLine ("Enter Population:");
long populate = long.Parse(Console.ReadLine());

Console. WriteLine ("Enter number of family :");

long numFamily = long.Parse(Console.ReadLine());

float familySize = populate / numFamily;
Console.WriteLine("family size in IRAN: {0}", familySize);
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float familySize = (float) populate/numFamily;
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Console.WriteLine (" ------ Final Price------ ");

//Get the First Price
Console.Write ("\nEnter Pricel:");
float pricel=.......ccccvivevivnieninarnnns ;

/IGet the Second Price
Console.Write ("\nEnter Price2:");
float price2=.......ccoovvvvrveinrnnnn. ;

//Get the Third Price
Console.Write ("\nEnter Price3:");
oAt PriCed = .o ;

//Get the fourth Price
Console.Write ("\nEnter Price4:");
oAt PriCed = ..o ;
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/ICalculate the Discount
float discount = pricel+ price2 + price3* 10/ 100 + price4* 70 / 100;
Console.Write("\n *** final Discount = "+ discount);
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Console.Write("Enter the radius in meter: ");

INtradius = ....oooveevieieece e,
/[caculate circle environment
double env =2 * Math.PI * radius;
/[display circle environment
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int count101, count102;

Console.Write("Enter count of student class 101:");

count101 = int.Parse(Console.ReadLine());

Console.Write("Enter count of student class 102:");

count102 = int.Parse(Console.ReadLine());
Console.WriteLine("count of students class 101={0} ", count101--);
Console.WriteLine("count101={0} ", count101);
Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count102={0} ", count102);
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Console.WriteLine("count of students class 101={0} ", --count101);
Console.WriteLine("count of students class 102={0} ", ++count102);
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Console.WriteLine ("count of students class 101={0} ", count101--);
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Console.WriteLine ("count of students class 101={0} ", count101);
count101--;
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Console.WriteLine ("count of students class 101={0} ", --count101);
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--count101;
Console.WriteLine ("count of students class 101={0} ", count101);
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Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count of students class 102={0} ", ++count102);
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Intx=12,y=-12;

Console.WriteLine ("x={0} y={1}", x++, ++y);

Console.WriteLine ("x={0} y={1}", --x, ++y);

y = ++X;

X =y

Console.WriteLine ("x={0} y={1}",x,y);
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int a=5+7;
string s= "ali"+"reza";
string count="count of pencil : "+100;
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string s = "ali";
st+="reza";
Console.WriteLine(s);
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Console.WriteLine("flag = {0}",a>10);
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flag=a>10; Scwl <o a> jiflag
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int iranWater = 190;

Console.WriteLine(" The average consumption in IRAN -> " + iranWater);

int worldWater = 135;

Console.WriteLine(" The average consumption in WORLD -> " + worldWater);
[l jin o)l 30 Ol B pae &l L]

Console.WriteLine(" Is iranWater > worldWater: {0} ", iranWater > worldWater );
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bool flag=false;
int score=7;
Console.WriteLine("score = {0}",score);
Console.WriteLine("is student passed: {0}, is score=7:{1}",flag==true,score==7);
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int numl;
Console.WriteLine("Enter num1 : ");
numl=int.Parse(Console.ReadLine());
numl—++;
numl*5;
--numl;
numl/2;
Console.WriteLine("num1={0} ", numl);
Console.ReadKey();
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bool result = true;
Console.WriteLine(result > 0);

string s1 = "Ali";
string s2 = "Reza";
sl +=s2;

sl =sl -s2;

float f=100 - s1;
sl =-sl;
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int booklet, children;
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Console.WriteLine("Enter number of booklet : *);
booklet = int.Parse(Console.ReadLine());
Console.WriteLine("Enter number of children : *);
children = int.Parse(Console.ReadLine());

int count = booklet / children;

Console.WriteLine("count={0} ", count);

Console.ReadKey();
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byte x, y;

y = byte.Parse(Console.ReadLine());

x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) && (y==5));
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byte x, y;

y = byte.Parse(Console.ReadLine());
x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) || (y==5));
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string weather;

Console.WriteLine(" weather:");

weather = Console.ReadLine();

Console.WriteLine("weather is not cloudy: {0}, weather!="cloudy");
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Console.Write("Enter numZ1:");

int numl = int.Parse(Console.ReadLine());

Console.Write("Enter num2:");

int num2 = int.Parse(Console.ReadLine());

Console.WriteLine(" {0} greater than{1} -> {2}",num1,num2,num1>num?2);
Console.WriteLine(" {0} less than {1} -> {2}", num1, num2, numl < num?2);
Console.WriteLine(" {0} equal to {1} -> {2}", numl, num2, num1 == num?2);
Console.WriteLine(" {0} not equal to {1} > {2}", numl, num2, num1!=num?2);
<)

Console.WriteLine("Enter an integer:");

int myInt = int.Parse(Console.ReadLine());

bool isLessThan10 = mylInt < 10;

bool isBetween0And5 = (0 <= myInt) && (mylnt <= 5);
Console.WriteLine("Integer less than 10? {0}", isLessThan10);
Console.WriteLine("Integer between 0 and 5? {0}", isBetween0And5);
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if (x=="bicycle")
Console.WriteLine("Playing");
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Console.WriteLine("Enter your choice / 1 or 2");
byte x = byte.Parse(Console.ReadLine());

if (x==1)
Console.WriteLine("'Pay bills");

if (x==2)

{

Console.WriteLine("Pay bills");
Console.WriteLine("reduction of traffic ");

}
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if (light=="red")

vehicle Condition = "stop";
else

vehicle Condition = "move";
Console.WriteLine(Vehicle Condition );
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string day = Console.ReadLine();

if (day == "odd")//condition true

{
Console.WriteLine("Studying");
Console.WriteLine("English class");
Console.WriteLine("Say praying");
Console.WriteLine("Visit Grand");

§

if (day == "Even") //condition true
Console.WriteLine("Studying");
Console.WriteLine("gym"™);
Console.WriteLine("Say praying");
Console.WriteLine("'c# programming Class ");
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Console.WriteLine("Enter the floor");
int floor = int.Parse(Console.ReadLine());
if (floor 72==0)
Console.WriteLine("Elevator A");
else
Console.WriteLine("Elevator B");
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if (age>=18)
status="Allowed";
else
status="Not Allowed";
Console.WriteLine(status);
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Console.WriteLine("How old are you?");

int age = int.Parse(Console.ReadLine());
string s;

s = (age >= 18 ? "Allowed": " Not Allowed");
Console.WriteLine (s);
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bool result = in. TryParse (Console.Readline () , out int age);
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Console.WriteLine (" How old are you");
bool result = int. TryParse (Console.ReadLine() , out int age);
if (result)
{
string s = (age = 18 ? "Allowed" : "Not Allowed");
Console.WriteLine (s);
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Console.WriteLine("Enter your user name");
string user = Console.ReadLine();
Console.WriteLine("Enter your password");
string pass = Console.ReadLine();
if (user == "reza")
if (pass =="123456")
Console.WriteLine("Welcome " + user);
else
Console.WriteLine("The password is incorrect");
else
Console.WriteLine("Unkown user");
Console.ReadKey();
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Console.WriteLine("Enter the air temperature");

int temp = int.Parse(Console.ReadLine());

Console.WriteLine("Enter the weather conditions: sunny /cloudy / partly cloudy/ rainy");
string condition = Console.ReadLine();
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if (temp > 19)
if (condition == "sunny")
Console.WriteLine("Excellent™);
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if ((temp > 19)&& (condition == "sunny"))
Console.WriteLine("Excellent");
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if (temp < 19)

{
if (condition == "sunny")
Console.WriteLine("suitable™);
if (condition == "partly cloudy ")
Console.WriteLine("'suitable™);

}
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if (a>b) && (a>c¢))
if (b>c)
Console.WriteLine("{0} {1} {2}",a, b, ¢);
else
Console.WriteLine("{0} {1} {2}", a, ¢, b);

elseif ((b > a) && (b > ¢))
if (@>c)
Console.WriteLine("{0} {1} {2}", b, a, ¢);
else
Console.WriteLine("{0} {1} {2}", b, c, a);

else if ((c > a) && (c > b))
if (@>Dh)
Console.WriteLine("{0} {1} {2}", c, a, b);
else
Console.WriteLine("{0} {1} {2}", c, b, a);
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int count = 0;

if (b +¢>a) count++;

if (a+ ¢ >b) count++;

if (a+b>c) countt+t;

if (count == 3)
Console.WriteLine(true);

else
Console.WriteLine(false);
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elseif (a+c<=b)
Console.WriteLine(false);
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Console.WriteLine(a+b>c && a+tc>b && b+ ¢ > a);
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if (season=="Bahar")
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
else if (season=="Tabestan")
Console.WriteLine("Tir, Mordad, Shahrivar");
else if (season=="Paeiz")
Console.WriteLine("Mehr, Aban, Azar");
else if(season=="Zemestan")
Console.WriteLine("Dey, Bahman, Esfand");
else
Console.WriteLine('Season Wrong");
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string season ;
Console.Write("Enter Season:");
season = Console.ReadLine();
switch (season)

case "Bahar":
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
break;
case "Tabestan™:
Console.WriteLine("Tir, Mordad, Shahrivar");
break;
case " Paeiz "

case "Zemestan":

break;
default;
Console.WriteLine("Season Wrong");
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long x = long.Parse(Console.ReadLine());

x=x % 10;

switch (X)

{

case 1:
Console.WriteLine("'5");
break;

case 2:
Console.WriteLine("'3");
break;

case 9:
Console.WriteLine("7");
break;

case 0:
Console.WriteLine("9");
break;

}
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Console.WriteLine("What’s your favorite color?");
Console.WriteLine("[r] red");
Console.WriteLine("[g] green™);
Console.WriteLine("[b] blue");
Console.WriteLine("[w] white");
Console.WriteLine("[y] yellow");

Console.Write(" Enter your choice: "),

char choice = char.Parse(Console.ReadLine());

switch (choice)
{
case'r'
Console.BackgroundColor = ConsoleColor.Red;
Console.Clear();
break;
case'g"
case'b "
Console.BackgroundColor = ConsoleColor.Blue;
Console.Clear();
break;
default:
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Console.WriteLine("enter your device™);
string x = Console.ReadLine();
switch (x)
{
case "keyborad":
case "Mouse":
case "Scanner":
Console.WriteLine("{0} is input device ",x);
break;
case "Monitor":
case "Printer":
case "Headphone":
Console.WriteLine(" {0} is output device ",x);
break;
case "Modem":
case "Network card":
case "Audio Card":
Console.WriteLine(" {0} is Both Input—OutPut Devices ", x);
break;
default:
Console.WriteLine("unknown');
break;

}
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const int Sunday = 0;
const int Monday = 1;
const int Tuesday = 2;
const int Wednesday = 3;
const int Thursday = 4;
const int Friday = 5;
const int Saturday = 6;
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DayOf\Week.Monday
S Az g JgudS Aoy SO il 05 &
Console.BackgroundColor = ConsoleColor.Blue;
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day = DayOf\Week.Friday;
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ConsoleColor ¢ = ConsoleColor.Blue;
Console.BackgroundColor = ¢ + 3;
Console.Clear();
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ct=1;
Console.ForegroundColor = c;
Console.WriteLine (c);
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Console.WriteLine ((int) ConsoleColor.Green);
&5 o lp e Jood 50T glagas 51 oy oo das &y (i lp (o8l 00l g5 0
S o0 oolaiwl 5 O g dae 4 b sleds oolo
(Nt & les 00ls g5 guae ol

B2 sl K5 lea L1y ConsoleColor i les ools g5 sla S5,y plas o )los 45" S g0 (51l s

Y54

Culled
Gmtf)ls




L oolyen 1) atan slosg, (ool 45 assi glaali,y DayOfWeek & jleds ools goi 3l solazwl b
D20 gioled 59, 0,led

ol 0010 £ i Ly ya3
25 Soped €NUM ofly 05 dlwgds (Ghya (o5)led 00ls g9 Wil oo mgianli o)l o 5 50
Sy
enum olgzds b
h
gl 31 (s 9
{ z
o la 0315 £95 (5N AL g,y el ab 5Lid 15 5 oS 5] 15 Voo o8 Lo 0015 £95 iy po5 e
Sgbiee iz 553 b 51 Q) LS Cuodle b pl o o sl a0 5o el JISuly b,
0ds Ly a5 A g0ty (0Me Jlo slasle sU (sl MONLOTYEAr i ke ools g5 5 Jle yo
!
enum MontOfYear
{
Jan, Feb, Mar, Apr, May, Jun, Aug, Sep, Oct, Nov, Dec
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enum Fasl
{
Bahar = 1,
Tabestan,
Paeez,
Zemestan

}
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enum Season
{
Winter =1,
Spring = 2,
Summer = 3,
Fall = 4
}
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Console.Write ("Enter the Season number (1-4): ");
int no = int.Parse (Console.ReadLine () );
Season fasl = (Season) no;
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switch (fasl)

switch E“mim { case Season,Winter:

_,s_,.,l'l_“,. -[ break;

0 default: braski

} caze Saason,Summer:
break;

case Tea Fall:
break ;

default
break;
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DayOfWeek day;

day = Monday; #

day = DayOf Week.Wednesday;
Console.WriteLine (day);
day = 5;
day = (DayOf\Week) 0;
Console.WriteLine (day);
Console.WriteLine ((int) day);
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7- Asadi, A (2015), Windows 10 for Beginners, Imagine Publishing Ltd, Volume(22), Issue 4,
pages 28-33, 3845

8 - James Madison University-Official Site.

9- Serif, Student Project Resources.

10- Adobe Captivate — Official Site, Blogs.adobe.com/captivate9

11- Multimedia Design: Navigation Maps and Storyboards.(2011)

12- Swish Max 4.0 user guide

13- Proshow Gold 6.0 help documentation

14- C# Programming Guide.microsoft
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